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A certain sum of money was lent a@;er annum simple interest and@
years the interest amounted to Rs. 2800 less than the sum lent. What was the
sum lent (in Rs.)?

s AfYa I IR wu@%aﬁﬁaﬁamwﬁu{aﬁigaﬁﬁa{ﬁ%
TS MR IYR Tl T3 AR D -1 H 2800 YT HH il g | SUR dl T AT

(¥UT H) 1 §? ab= 10y a) o000
[=lt0% b) - 12000
C) 18000

d) 11200
VHAS
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A and B can complete a piece of work in 12 days and 18 days respectively.
They start working but 3 days before the completion of work, A left. In how many
days will the total piece of work be completed?

A 3R B Uh B Bl hHR: 12 fe- 3R 18 &4 T JHI P Ghd g | d B Dl
I DA © b1 B JHIE g4 I 3 a1 Ugd, AP SIS adl o1 d S fdbaH
fa&i o gured gl \re?

a) days
b) days
C) days

d) days
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The monthly salaries of Aand B are in the ratio 4 : 5. If both of them get a salary
increment of Rs. 3000 per month, the new ratio of their monthly salary becomes
9 : 6. What is the new monthly salary of A?

A 3R B @I HIRI® 314 4 : 5 & 3Urd H o | gl 399 I <l &I Ufd Hel- 3000

¥YU B dd- deltRl YT gl o, dl 3-1db AT 31 BT =1 Ul 5 : 6 Bl Sl
gl dl AT =31 HIRID dd- 1 572

a) . 15000
b) ;. 18000
C) 8000

d) ;s 11000
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A man sells two bicycles at Rs. 5,000 each. If he sold one at a gain of 25% and

on the whole there is neither profit nor loss, then another bicycle is sold at a
loss of:

U9 Afdd < Asfehd, Ud® &1 5,000 U4 H §9dl o | Al I TH B 25% &
TH IR &1 3R 39 U1 e A 9 dl 1Y 311§ 3R 9 &l 81 8%, dl 39 ga’l

qrsfbd &I [dd-l gk U= &7 6
a) 25%
b) =
C) «

d) 67%
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The present age of the father and the son are in the ratio of 7 : 3. After 6 years
the ratio of their ages will be 2 : 1. What is the sum of the present age of the

father and the son?

[OdT &1 adHM 39 3R YA & Y DI I 7 : 3 51 6 dN 691G 3P 39 DI 3U[q
2 - 1 RN fUdl 3R U & 9 39 T AN A1 572

a) ) YIs
b) ) yrs
C) L yrs

d) 3 yrs
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A person spends 1/4o0f the money with him on clothes, 2/5 of the remaining on
food and 1/3 of the remaining on travel. Now, he is left with Rs. 500. How much
did he have with him in the beginning?

U Aldd 3P 39T] BT 1/4 YT 39U HUS| U W HIdl ©, UV BT 2/5 HRT HIvH

R IR IYT Y 1/3 YRTIHT R G HId &l 36, 3P RT3, 500 3T YV ¢ |
ST T 39D Ul fbd- 30 27

a)  1266.66
b) s 1256.66

C) s 1366.66

:.m d) . 166666
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If the difference between interior and exterior angle of a regular polygon is 60°
then what is the sum of interior angles of the polygon?

gic U dgHsl & 3HIdR® 3R a1l HIV & did BT 3R 60° ¢ dl dgYS D 3fdRD
10T T GHT T G2

a) s
b)
c) o

d) o

HAS
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On what principal, the difference of compound and simple interest, shall come
out to be Rs. 366, if the money is kept for 3 years at 5%?

[ d- Jare- IR, Iehdlg 3R ATYRUT TS DT 3R 366 =94 g, dlq Y-RIRT 5%

&R 9 3 gyl & fory @i oi?
a) 5. 35000
b) s 48000
C) 5. 56000

d) 5. 36600

HAS
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A man travels some distance at a speed of 15 km/hr and he returns at a speed
of 6 km/hr. If the total time taken by the man is 14 hours, then what is the
distance (in km)?

U Alad 15 foHi/Ee BT A Do g1 DI AT Rl Hdl © 3R 98 a1y 6 fhHl/
gc Dl Tid I diedl g1 afe Afad gRI o 101 o T9Y 14 4¢ g, di gof (Tt H)
faba-l g7

a)
b)

c)
d) .
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A shopkeeper gains 19% after allowing a discount of 15% on the marked price
of an article. Find the profit percent if the article is sold at marked price allowing

no discount.

UPh DGR Udh 9] & {fdhd e W 15% DI ¥ & & da 19% BT 1Y UK
&Rl g | gic 9] (6471 fhdt e & sifdbd Hed R &l 91l © dl a1y Wid=rd rd

G

a) %
b) %
C) %

d) )%
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321 + 323 + 3% js divisible by:

321 4 323 4 325 I fqursg &

a)
b)
C)
d)

HAS
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On what Principal, compound interest compounded half-yearly is Rs. 1050 at
the rate of 20% per annum for 1 year?

[ Haeq |, Srefd1fied dehdla &6 1 98 & Q1T 20% Uld a8 Bl &R H 1050
S0y Jyiford gldl 872

a) 00
b)
c) o

d) oo

HAS
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If the diagonal and the area of a rectangle are 29 meters and 420 square
meters respectively, what is the length of the rectangle?

gfe faHol 3R 31ad &1 &% d HHT: 29 HieX 3R 420 971 HieX g, dl 31ad &I

SCIEE I,
( 8 ‘ I%/Dj a) meter
b) meter

C) meter
d) meter

m
e




